AN INEQUALITY FOR OPERATORS IN A HILBERT SPACE

Bertram Mond

Let A be a self-adjoint operator on a Hilbert space H satisfying $mI \le A \le MI$, 0 < m < M. Set q = M/m. Let j and k be real numbers, $jk \ne 0$, j < k. Then

$$\begin{array}{l} (A^k x, x)^{1/k}/(A^j x, x)^{1/j} \\ & \leq \{j^{-1}(q^j-1)\}^{-1/k}\{k^{-1}(q^k-1)\}^{1/j}\{(k-j)^{-1}(q^k-q^j)(x, x)\}^{(1/k)-(1/j)} \end{array}$$

for all $x \in H(x \neq 0)$. Letting j = -1 and k = 1, this inequality reduces to $(Ax, x)(A^{-1}x, x) \leq [(M+m)^2/4mM](x, x)^2$, the well-known Kantorovich Inequality.

Preliminaries. We shall make use of the following four inequalities:

For a > 0, b > 0,

(1)
$$a^{\alpha}b^{1-\alpha} \leq \alpha a + (1-\alpha)b \qquad \text{if } 0 < \alpha < 1$$

$$a^{\alpha}b^{1-\alpha} \ge \alpha\alpha + (1-\alpha)b \qquad \text{if } \alpha < 0.$$

For $j < k, 1 \le y \le q$,

$$(3) (q^k - 1)y^j - (q^j - 1)y^k - (q^k - q^j) \ge 0 \text{if } jk > 0$$

$$(4) -(q^k-1)y^j+(q^j-1)y^k+(q^k-q^j) \ge 0 \text{if } jk < 0.$$

(1) is the well-known inequality between the arithmetic and geometric means. Simple proofs of (2), (3) and (4) can be found in a recent paper by Goldman [3].

Let C be a self-adjoint operator on a Hilbert space H satisfying

$$(5)$$
 $I \leq C \leq qI$

where I is the identity operator (and (5) is understood in the usual sense that $(x, x) \leq (Cx, x) \leq q(x, x)$ for all $x \in H$). To the real valued function $u(\lambda)$, defined and continuous on [1, q], there is associated in a natural way a self-adjoint operator on H denoted by u(C) (see e.g. [6] pp. 265–273).

We shall make use of the following [loc. cit.]:

LEMMA. If $u(\lambda) \ge 0$ for $1 \le \lambda \le q$, then $u(C) \ge 0$, i.e., u(C) is a positive operator.

Results.

THEOREM 1. Let C be a self-adjoint operator on a Hilbert space H satisfying $I \leq C \leq qI$. Let j and k be real numbers, $j < k, jk \neq 0$. The operator

$$(6) (q^k - 1)C^j - (q^j - 1)C^k - (q^k - q^j)I$$

is positive if jk > 0; while the operator

$$-(q^k-1)C^j+(q^j-1)C^k+(q^k-q^j)I$$

is positive if jk < 0.

Proof. The theorem follows directly from (3) and (4) by virtue of the Lemma.

Letting j = -1 and k = 1, Theorem 1 yields an inequality that is equivalent to one given by Diaz and Metcalf [2].

The following theorem, which is the main result of this paper, is a Hilbert space generalization of Cargo and Shisha [1] and Mond [5].

THEOREM 2. Let A be self-adjoint operator on a Hilbert space H satisfying $mI \le A \le MI$, 0 < m < M. Set q = M/m. Let j and k be real numbers $jk \ne 0$, j < k. Then

$$(8) \qquad \frac{(A^k x, x)^{1/k}/(A^j x, x)^{1/j}}{\leq \{j^{-1}(q^j - 1)\}^{-1/k}\{k^{-1}(q^k - 1)\}^{1/j}\{(k - j)^{-1}(q^k - q^j)(x, x)\}^{(1/k) - (1/j)}}$$

for all $x \in H(x \neq 0)$.

Proof. Set $C \equiv A/m$. It obviously suffices to prove

$$\begin{array}{ll} (9) & & & & & & & & & & & \\ (2) & & & & & & & & \\ & & & & & & & \\ & & & & & & \\ & & & & & & \\ & & & & & & \\ & & & & & \\ & & & & & \\ & & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & \\ & & \\ & & & \\ & & & \\ & & \\ & & & \\ & & \\ & & & \\ & & & \\ & & & \\ & &$$

Since C satisfies (5), by Theorem 1,

$$(10) \qquad (q^k-1)(C^jx,\,x)-(q^j-1)(C^kx,\,x)\geqq (q^k-q^j)(x,\,x) \qquad \text{if } \, jk>0$$

and

(11)
$$(q^k-1)(C^jx, x) - (q^j-1)(C^kx, x) \leq (q^k-q^j)(x, x)$$
 if $jk < 0$.

Rewrite (10) as

(12)
$$\{-j(k-j)^{-1}\}\{j^{-1}(q^{j}-1)(C^{k}x,x)\} + \{k(k-j)^{-1}\}\{k^{-1}(q^{k}-1)(C^{j}x,x)\}$$

$$\geq (k-j)^{-1}(q^{k}-q^{j})(x,x)$$

if jk > 0, and (11) as

(13)
$$\{-j(k-j)^{-1}\}\{j^{-1}(q^{j}-1)(C^{k}x,x)\} + \{k(k-j)^{-1}\}\{k^{-1}(q^{k}-1)(C^{j}x,x)\}$$

$$\leq (k-j)^{-1}(q^{k}-q^{j})(x,x)$$

if jk < 0.

Assume k > 0. Set

$$a = j^{-1}(q^j - 1)(C^k x, x), b = k^{-1}(q^k - 1)(C^j x, x), \alpha = -j(k - j)^{-1}$$
.

If j > 0, applying (2) and combining with (12), we obtain

(14)
$$\{j^{-1}(q^{j}-1)(C^{k}x,x)\}^{-j/(k-j)}\{k^{-1}(q^{k}-1)(C^{j}x,x)\}^{k/(k-j)} \\ \geq (k-j)^{-1}(q^{k}-q^{j})(x,x)$$

which when raised to the power (k-j)/(-kj) yields

(15)
$$\{j^{-1}(q^{j}-1)(C^{k}x,x)\}^{1/k}\{k^{-1}(q^{k}-1)(C^{j}x,x)\}^{-1/j}$$

$$\leq \{(k-j)^{-1}(q^{k}-q^{j})(x,x)\}^{(1/k)-(1/j)} .$$

If j < 0 (k > 0), applying (1) and combining with (13) yields the reverse of (14) which, when raised to the power (k - j)/(-kj), yields (15). Finally, if j < k < 0, set

$$a = k^{-1}(q^k - 1)(C^j x, x), b = i^{-1}(q^j - 1)(C^k x, x), \alpha = k(k - i)^{-1}$$

Applying (2) and combining with (12) yields (14) which, when raised to the power (k-j)/(-kj) yields (15). In all cases, therefore, we have (15), a rearrangement of (9). (Compare the method of proof of Theorem 2 with Goldman [3].)

The well-known [4] Kantorovich inequality, $(Ax, x)(A^{-1}x, x) \le [(m+M)^2/4mM](x, x)^2$, is the special case of Theorem 2 with j=-1, k=1.

REFERENCES

- 1. T. G. Cargo and O. Shisha, Bounds on ratios of means, J. Res. Nat. Bur. Standards 66B (1962), 169-170.
- 2. J. B. Diaz and F. T. Metcalf, Stronger forms of inequalities of Kantorovich and Strang for operators in a Hilbert space, Notices Amer. Math. Soc. 11, No. 1 (Jan. 1964), 92.
- 3. A. J. Goldman, A generalization of Rennie's inequality, J. Res. Nat. Bur. Standards **68B** (1964), 59-63.
- 4. L. V. Kantorovich, Functional analysis and applied mathematics, Uspekhi Math. Nauk, 3 (1948), Translated from the Russian by Curtis D. Benster, Nat. Bur. Standards, Report No. 1509., March 7, 1952.
- 5. B. Mond, A matrix inequality including that of Kantorovich to appear in J. Math. Analysis and Applications 13, No. 1 (Jan. 1966), 49-52.
- 6. F. Riesz and B. Sz-Nagy, Functional analysis, Translated from the 2nd French edition by Leo F. Boron, Frederick Ungar Pub. Co., 1955.

Received March 11, 1965.

AEROSPACE RESEARCH LABORATORIES WRIGHT-PATTERSON AIR FORCE BASE, OHIO